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@ 4x2-3x+2 @ 4x%2-x-2 @ 4x?-2x+1

@ —4x2 —x-2 B —4x2+x-2




5. (a-b+c)a-b-c)E HAMN5HH?

@ —-a?+b%-c?+2ca @ a®-b?+ %+ 2ab
® a®+b%+ 2 +abe @ a®-b?-c?+ 2bc

B a2+ b2 =c2=92ab



o 199 AF+4 AGHE, AHH4 EFCD & E

A zFgo| 1, AD = a, AB = b 4uf, AH2+3

GBFH 9] Ho]&? Gr—H
B F

® a® - 2ab - b? @ a* + 3b* - 2ab

® -a? + 3ab - 2b* @ —a® + 3ab - b?

B —a? + 2ab — b2



O (x+1)(x-x+1)=x3+1
@ (a+2b-3c)* = a2 + 4b* + 9¢2 + 4ab — 12bc — 6ac
® (x+2)(xP-2x+4)=x>+38

(xQ—xy+y2) (x2+xy—|—y2) =x4—x2y2+y4

@
® (x-1) (x+1)2=xt-2x2+1



(e & A 0 F A%
36)%)1 2 A ), @

=t 17olet. Tkt

of 58 ot 2

® 1270 @ 1370

|
ay

{(2a—3b)3(2a+

® 647\



9. (P+ax+2)(x®+bx+2)E ANFAS W, 2 B3 AFE RF0
o] A Sh= 44 a, boll st a+ b 2] F2?

® -2 @ -1 ®1 @ 2 ®

N | Qo



10. a®2+4+024+¢2=9,ab+bc+ca=9, a+b+c2 FL?

D -3v2 @ -243 ® +343
@ +3+2 B V6



11, AP 31t 52
A 3xt —5x? +4x - TS 2] Ll
Y27} 4x — 5L wf, o] &}4] ]1:]; :ri‘i‘;l-j— T

@ 3x2-2
@ 3x% -
x“—1 ® 3x2

@ 3x2
+1 B 3x2+2



12.

| et A 3 +ax® + bx+2 22 - x+ 1 2 Uae Y A7}

x ©]
x+30°] HEEaq, b9 7S HT W, ab 7S Fotoi=t

a Eab =



oA (x)=4x3+ax2+x+1%x+%§‘)r%‘?ﬂ‘4“17417}1%1
o, B4 f(x) & 2x+ 18 Uhe 5 Q (x) 2F U A] RS F15HH?

D@ Qox)=24>-x,R=1 @ Q(x)=2x>+x,R=1
® Q0kx)=2x>-2x,R=1 @Q(x)=4x2—2x,R:%

® Q(x):4x2+2x,R:%



14. x+y+z=1Lxy+yz+zx =2, xz=3L ™, (x+ 1)y +1)(z+ 1)
9] k& otofeh

s
=¥



15. a+b+c=0, a®>+b*>+c? =14 W, 4(a®b? +b>c? +c%a?) o] 727

® @) ®1 @ 2 ® 3

o
N | —



16. 99 x 101 x (1002 4 100 + 1) x (1002 = 100 4 1) AA5}HH?

® 1008 -1 @ 100¢ +1 ® 100° -1

@ 1002 +1 ® 1



1
x+-=3

\

mO

1 1 - -
W, x4 = € R+ o] ke ARl ek

@ 7,18 ® 8,16
® 10, 27



18.

A5 a,b,col Hatd a+b+c =6, a2 + b2+ 2 = 128 V=T

a® +b° + % o] g& F5HH?

@D 8 ® 16 3 24

o,



19. a+b=4,a®+b* =10 W, &® + b° 9] 3L F3tolet.

YEE
c



20. the 1A AT A7 ol

@ 642 - Tab + 2b?
3 4842 — 48ab + 12b>

B 48a2 + 48ab + 12b2

Holx
Ego]l_r) /13b

Tt---8a--

@ 36a% — 42ab + 12b?

@ 1242 — 12ab + 3b?



